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FA B2z
Hu: ZDPA0IZ Y AH(2A/2AI2)
Cer 2zol2J|B 2N (Shol: ®2)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 XN BELES 360,000 270,000 90,000
O2SHAA A0t ORINEIIs 22 360,000
NEAEER sdl N (=2D) 12,600,000 0 12,600,000
= 6,300,000
== 6,300,000
307 gl2to| & 12,600,000 0 12,600,000
= 6,300,000
= 6,300,000
02 B AAHEE 12,600,000 0 12,600,000
OXUNFHRA S R (T422 2|
X&) 12,600,000
= 6,300,000
=S 6,300,000
Xgelz2d JIs22(=21) 12,402,000 31,230,000 18,828,000
= 6,201,000
< 6,201,000
402 2I2FX=01 & 12,402,000 31,230,000 218,828,000
s 6,201,000
= 6,201,000
02 RIENSASEZ(0IETHR) 12,402,000 31,230,000 18,828,000
ONgozd JIsEH 12,402,000
s 6,201,000
= 6,201,000
Ngolgd JIsS4st & 2 te(=1) 13,212,000 5,950,000 7,262,000
= 6,606,000
< 6,606,000
402 It X201 & 13,212,000 5,950,000 7,262,000
= 6,606,000
& 6,606,000
02 QI XHE AL E R (01X THE) 13,212,000 5,950,000 7,262,000
OoXgelzd JIsSdat & 238 UsS 13,212,000
= 6,606,000
= 6,606,000
SOICIZTHEAIE JIs22(=1) 171,333 223,333 /52,000
= 51,400
= 119,933
402 2I2F X201 & 171,333 223,333 /52,000
= 51,400
< 119,933
02 QI X2 AL E R (01X THE) 171,333 223,333 /52,000
OHMISIZMHEANE JISES 171,333
= 51,400
= 119,933
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FA B2z

M Z3EAAZ J|E HF(2H/2A29=)

ool ZRojz)|B 22N (SHol: M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
Ngolg2d MM2E &5 MAZH DH(21) 284,680 300,000 15,320

= 142,340
== 142,340
402 2I2F X201 & 284,680 300,000 A15,320
= 142,340
< 142,340
02 QI XHE AL E R (01X THE) 284,680 300,000 A15,320
OXlgolzgd Mazd =5 MAFH| WA 284,680
[ 142,340
= 142,340
Aoz @ mtA ojz013 I4H| KR (2 1) 3,000,000 3,000,000 0
= 1,500,000
=S 1,500,000
307 elztol & 3,000,000 3,000,000 0
= 1,500,000
< 1,500,000
02 2B YAIHE & 3,000,000 3,000,000 0
OXigeolgd mA o=l olzid| X 3,000,000
[ 1,500,000
= 1,500,000
ez YA 2 XA 89,964 89,964
307 212+01& 89,964 89,964
02 LB HAHE L 89,964 89,964
OXEozgd SYAclgY 24 N2 89,964
Ssk =S 2= Al S X2 21,000 21,000 0
308 XXM SOIA 21,000 21,000
01 XN B2 LS 21,000 21,000
osgekt 2SHA 2= 224l S N& 21,000
olzd =2 X 21,000 21,000 0
308 AXIHSOIA 21,000 21,000
01 HXHHBAEEXS 21,000 21,000
oozd = A& 21,000
SS00I 2= HEH =S 360,000 360,000 0
307 212+01& 360,000 360,000
02 LB AAHE L 360,000 360,000
O3S0l HE gl 2lAt| 360,000
QEFAUX Y HANE S HEY ASHEAH/EHAT) 13,715,299 13,093,852 621,447
= 611,375
= 2,309,746
Jl 5,616,126
= 5,178,052
SIZFA X 9,706,168 8,433,058 1,273,110
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FAN B2z
B o2 Y HUHES BN AB(HH/PAHAR)
= S FX N (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 501,375
[ 2,309,746
Il 4,124,126
== 2,680,921
erMEE E4F olTet f= 175,000 175,000 0
308 AXIHSOIA 175,000 175,000
01 XN B2 LS 175,000 175,000
Octder St oluct A5 175,000
VA AR SEE N3 (=) 225,000 225,000 0
Il 150,000
= 75,000
308 AHXIHMSO0IA 225,000 225,000 0
Jl 150,000
= 75,000
01 AXNBE2ES 225,000 225,000 0
O &2 YHEH K& 225,000
Il 150,000
== 75,000
UPIE M2 Ador SEXISUE XA (=1) 600,000 0 600,000
) 300,000
= 300,000
307 @120l & 600,000 0 600,000
Il 300,000
= 300,000
02 B AAHE L 600,000 0 600,000
OL%E &2 A0 SEXZHE XA 600,000
Jl 300,000
=S 300,000
AN Mo FEXIZHE XE(2D2) 70,000 0 70,000
Jl 35,000
[ 35,000
307 gl2to| & 70,000 0 70,000
Il 35,000
= 35,000
02 QB HANSEER 70,000 0 70,000
OAg M0t ESAZHH K& 70,000
Jl 35,000
= 35,000
XS Alaioh EEXN2HH X (=21) 80,000 0 80,000
Jl 40,000
= 40,000
307 elztol & 80,000 0 80,000
) 40,000
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FAN B2z
B o2 Y HUHES BN AB(HH/PAHAR)
eelr QS HAX X (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 40,000
02 QIZHEAAEE X 80,000 0 80,000
OXS Mdot ESXZHH A& 80,000
Il 40,000
= 40,000
SZFH UK S 2 X 200,000 200,000 0
308 XXM SOIA 200,000 200,000
01 AXHHBE2ES 200,000 200,000
O22HUA S 28 X2 200,000
QIEF X ABAFA 2H(=21) 450,000 300,000 150,000
= 300,000
[ 150,000
308 AtXIEMSOIE 450,000 300,000 150,000
s 300,000
= 150,000
01 HAHHBSEXRS 450,000 300,000 150,000
O2AZHAA ASAHA IH2HH| X2 450,000
[ 300,000
= 150,000
ol FoXl K& (A0tEAED e124H)(=1) 375,000 375,000 0
= 250,000
== 125,000
308 AXIMSOIA 375,000 375,000 0
= 250,000
< 125,000
01 HASHHBSEEXS 375,000 375,000 0
O2AZF 2R R HAS (A0 AED Q12|
) 375,000
[ 250,000
= 125,000
SO X XI&(248])(=1) 2,550,000 2,400,000 150,000
= 1,700,000
== 850,000
308 AXIMSOIA 2,550,000 2,400,000 150,000
= 1,700,000
[ 850,000
01 HAHHBSEEXS 2,550,000 2,400,000 150,000
OZSHFAX RIFAIS (Q124H]) 2,550,000
s 1,700,000
= 850,000
X2 2UHMEOI 2HH| X2 200,000 250,000 /50,000
308 XtXIEMSO0IE 200,000 250,000 /50,000
01 AXEN B2 LS 200,000 250,000 50,000
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FAN B2z
M o2FoHN U HOHE RO ASH(LA/LAAR)
= S FX N (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| & 53,800
ZOHIAHZE A At XSGHH K& (21) 561,000 566,176 4,824
= 280,500
= 280,500
307 212+01& 561,000 566,176 4,824
= 280,500
=S 280,500
02 2IZHBHAIHE X 561,000 556, 176 4,824
OXSH A2 HIE] 561,000
= 280,500
< 280,500
Zopel A2Ax02 XJA(21) 83,750 0 83,750
= 41,875
= 41,875
402 2I2F X201 & 83,750 0 83,750
= 41,875
= 41,875
02 QI TH2AILEE (01X THE) 83,750 0 83,750
OFofel AZAXI|2 X2 83,750
= 41,875
= 41,875
FHXA S=2dg84dH K& (=1) 470,000 470,000 0
) 470,000
307 glztol & 470,000 470,000 0
Il 470,000
02 QB HANEEX 470,000 470,000 0
OF XY Sxs2A=dEH XA 470,000
Il 470,000
FHo Xl 8222012 X (21) 2,458,600 2,458,600 0
) 2,458,600
308 XXM SOIA 2,458,600 2,458,600 0
Il 2,458,600
01 HAHHBSEXRS 2,458,600 2,458,600 0
OF XS ss2=z712 XE 2,458,600
Jl 2,458,600
22898 FAXY gAo=012 XJ(21) 182,000 182,000 0
Il 182,000
308 XXM SOIA 182,000 182,000 0
Jl 182,000
01 AXEH B EES 182,000 182,000 0
oss2z FHANS Aoz N 182,000
Jl 182,000
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A B32A=

Ho: o2 U HOUHS OBOINY AsH(R/EH0 )

Celr o2 F X A CEREED
SA - B GR(31) - HIRAY - BES ol by e HlmS2
s3%2 FHAXY 250 IiA NJ(=1) 351,026 351,026 0

| 351,026
307 gI2tol M 351,026 351,026 0
| 351,026
02 QIRHHAAIHE X 351,026 351,026 0
O=222& FHAXNY 24s0s A KA 351,026
I 351,026
S2%9z HAXYG AT UERD 2=(=12) 47,500 47,500 0
| 47,500
307 2I2+0l™ 47,500 47,500 0
| 47,500
02 QIRHEAAIHE X 47,500 47,500 0
02397 AN AT YEIT 7
= 47,500
| 47,500
ZFHAAHE K& 4,009, 131 4,660,794 A651,663
= 20,000
| 1,492,000
= 2,497,131
=otate] XA X2 (KSHE X)) (=2) 200,000 200,000 0
| 100,000
= 100,000
307 gI2Hol 200,000 200,000 0
| 100,000
& 100,000
02 QIHBAAIHE X 200,000 200,000 0
OXLLHE X2 200,000
| 100,000
& 100,000
Sotrze| XIAHA X2 (L8EX SEXRIME KI2)( 200,000 200,000 0
22)
| 100,000
= 100,000
307 QI2Hol M 200,000 200,000 0
| 100,000
= 100,000
02 QItB AT E R 200,000 200,000 0
OYMEL SESXXHEH XA 200,000
| 100,000
& 100,000
otz XXM X2 (L& X&) (21) 1,550,400 1,723,560 A173,160
| 1,292,000
= 258,400
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A BB
M O|ZF X Y FOAHE oZOHMY ASH(BH/E2HZ)
Rl AZHAAHS KA (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
308 XHXIEHHISOI & 1,550,400 1,723,560 173,160
Il 1,292,000
[ 258,400
01 RXISRBAEES 1,550,400 1,723,560 A173,160
OLATH| XY 1,550,400
pJ 1,292,000
< 258,400
otEINt O/ H| & AWIIABR| KV (LEA oEHI (X 972,600 1,500,000 NB27,400
SALY)
308 XHXIEHHISOI & 972,600 1,500,000 527,400
01 RXISHRBAEES 972,600 1,500,000 527,400
Ogett olZHI(MEt) 972,600
otEi Xt O/2H| & THItE] KIS (THIHEXL 22])( 41,304 41,304 0
SEINI)
308 XHXIEHHISOI & 41,304 41,304
01 ARSI BAEES 41,304 41,304
OTHIIAEI} 22| (H 8 41,304
QAZ0I22N S 22 X(21) 28,571 42,857 14,286
= 20,000
== 8,571
307 QI2t0l & 28,571 42,857 14,286
= 20,000
[ 8,571
01 22 & 3=t 28,571 42,857 14,286
=e22X S 92 N 28,571
2 20,000
[ 8,571
MOIEH SR S o2 K| 245,900 230,500 15,400
301 YEH2 A 245,900 230,500 15,400
R ABIBEHAHZ(FAHS, NLH) 245,900 230,500 15,400
OMIIXEHE X S 2A=2H| X 245,900
25X gl YAl 2 770,356 722,573 47,783
308 XHXIEHHISOI & 770,356 722,573 47,783
01 AXISHRHBAEES 770,356 722,573 47,783
OE5X gie YA 29 770,35
L2220k S MHIA SE(2H/22428) 9,220,014 9,233,051 A13,037
Il 7,124,922
== 2,095,092
S392 olmgt &5 8,828,600 8,956,410 A127,810
BJ 6,890,800
== 1,987,800
STOUZXRAME 29 XA (ZD) 213,600 209,300 4,300
Il 106,800
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2N BBoI23
M LxF0F 2 AMHIA ES(EAH/2HAZ)
H°el: Ss2s oot &5 EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 106,800
307 @201 & 213,600 209,300 4,300
Jl 106,800
= 106,800
02 QI HANSEER 213,600 209,300 4,300
OZ2=2A= X dH 24l X 213,600
7l 106,800
= 106,800
QESEXE 2=y 29 NA(20) 250,000 0 250,000
Jl 125,000
< 125,000
308 AXIMSOIA 250,000 0 250,000
) 125,000
& 125,000
183 S| 2SO ZB XA AIE 250,000 0 250,000
oss2zAdEt 238 A 250,000
Il 125,000
= 125,000
ES2AZ0ISHAH K (21) 3,375,000 3,470,000 /95,000
J| 2,362,000
= 1,013,000
307 elztol & 3,375,000 3,470,000 285,000
Jl 2,362,000
< 1,013,000
02 2B YAIHE £ 3,375,000 3,470,000 /95,000
OJIE 8828 d8dI| 2| 3,375,000
) 2,362,000
= 1,013,000
282202 BorEL g 2X3(21) 1,060,000 1,036,900 23,100
7 937,000
S 123,000
307 elztol & 1,060,000 1,036,900 23,100
J| 937,000
== 123,000
02 2B HAIAE & 1,060,000 1,036,900 23,100
ObIF A ss2=712 248 K& 1,060,000
Jl 937,000
[ 123,000
ISdEd JgaieE s388s N2 144,000 144,000
308 AtAIEMSOIE 144,000 144,000
01 AXEH B EES 144,000 144,000
odsyzd Jeads ssd8 N 144,000
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FAN B2z
M LxF0F 2 AMHIA ES(EAH/2HAZ)
Helr 222z Xt &5 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
SEAME2IEHA 2E(2D) 3,094,000 3,818,210 AT24,210
Jl 3,094,000

307 21201 & 3,094,000 3,818,210 AT724,210
Jl 3,004,000

02 2IZHBYAIHE & 3,094,000 3,818,210 AT24,210
OdHHH =28 XN&H 3,094,000
) 3,094,000

S292 222X XA (=) 240,000 0 240,000
Jl 168,000
[ 72,000

307 el2tol & 240,000 0 240,000
) 168,000
S 72,000

02 QI HANEER 240,000 0 240,000
oss2=z 222N K& 240,000
Il 168,000
= 72,000

dHAME S SSHX WSl XNA(=1) 150,000 150,000 0
Il 75,000
== 75,000

307 elztol & 150,000 150,000 0
Jl 75,000
[ 75,000

05 212t S 150,000 150,000 0
O8Hads & SSAX WUFH X 150,000
Jl 75,000
= 75,000

NsdEE2a0 22 N (21) 23,000 29,000 26,000
Jl 23,000

403 MR EHMSAHE01H 23,000 29,000 26,000
Il 23,000

01 AR A =2 £ 23,000 29,000 26,000
oMsdEEAI| 25 NE 23,000
Jl 23,000

Ssk 0IsxxE X 36,000 0 36,000

308 XXM SOIA 36,000 36,000

01 AXENBELES 36,000 36,000
os=e A 05Xz K& 36,000

20ts2tA 88822 X 243,000 243,000 0

308 AXIMSOIA 243,000 243,000
01 XN B2 LS 243,000 243,000

OAOtsetit dgd=22 X3 243,000
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A B32A=
HE: BLS0F 2 MHIA HE(2A/2AAR)
el Moz MARS EER=E)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
Mtels MARS 280,514 276,641 3,873
| 154,122
T 126,392
XS Tetel2 X 12,800 12,800 0
202 04dl 5,000 5,000
01 =LHO4b| 5,000 5,000
oMHs=zZ2dz Al F=& 5,000
307 2I2+01 ™ 7,800 7,800
02 QIZHA A AL E X 7,800 7,800
OMHSXAXE 25 7,800
AMEUSE 29 XJ(=21) 25,074 25,074 0
| 25,074
308 AXISHMSOIA 25,074 25,074 0
| 25,074
01 AXSHHBLERS 25,074 25,074 0
odl=siiser 29 K& 25,074
| 25,074
MAtHEEH2 29 X2(=21) 204,000 199,600 4,400
| 102,000
& 102,000
307 212+01 ™ 204,000 199,600 4,400
| 102,000
= 102,000
02 QItBAAIHE R 204,000 199,600 4,400
OHAE Tz Mol X 29 K& 204,000
| 102,000
& 102,000
Ntszog RS 24(20) 38,640 39,167 AB27
| 27,048
T 11,592
307 212+01 A 38,640 39,167 AB27
| 27,048
T 11,592
02 QIZHAAAIEE R 38,640 39,167 AB27
otESzods FHESAY 2 38,640
J| 27,048
= 11,592
20z K& 110,900 0 110,900
| 80,000
& 30,900
oz X3 g2 FA 6,900 0 6,900
201 Ler23| 5,500 0 5,500
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FA B2z
Hu: Mee DNEA MHIA RIB(22/221002)
ol 2U2AX EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
Had AR ojzH| XR(22) 12,750 12,750 0
Jl 8,500
== 4,250

301 EtE N = 12,750 12,750 0
) 8,500
= 4,250

01 Al EE A S (2 RDEXMA) 12,750 12,750 0
OFAYE &2 9/gH| X 12,750
Jl 8,500
= 4,250

DRE FAR =dl XNJ(=1) 273,000 288,000 A15,000
7l 182,000
=S 91,000

301 EtE NS 273,000 288,000 A15,000
Jl 182,000
< 91,000

01 Al EE A S (2 DEXA) 273,000 288,000 15,000
O1URE AT ogH| XA 273,000
) 182,000
S 91,000

MOHZED| HZ2e| X (21) 103,500 88,350 15,150
7l 69,000
= 34,500

308 XX HMSO0IA 103,500 88,350 15,150
Jl 69,000
s 34,500

01 HREHH B E2ES 103,500 88,350 15,150
QW= A2l XN&H 103,500
Jl 69,000
< 34,500

0l=0t & A& 0l&0t ozHl X&(212) 228,000 222,000 6,000
Jl 152,000
= 76,000

301 22N 228,000 222,000 6,000
Jl 162,000
= 76,000

01 AR 2 HSHS(RNEERTH) 228,000 222,000 6,000
Oll=0t & d&d 0140t 2 =H K& 228,000
Jl 152,000
== 76,000

HEd A0l ZIAH & &Hot 2t2l(=21) 121,500 121,500 0
) 81,000
= 40,500
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FA B2z
Hu: Mee DNEA MHIA RIB(22/221002)
ol 2U2AX EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
301 EtE NS 121,500 121,500 0
Jl 81,000
== 40,500
01 Al EE A Z(2RDEXR) 121,500 121,500 0
OdE UIAIOla HAF & 20 2l 121,500
) 81,000
& 40,500
HEd UE A Y 230 X¥(=1) 9,000 33,000 24,000
7l 6,000
= 3,000
301 2eEN=S 9,000 33,000 24,000
7l 6,000
=S 3,000
01 AR HSFS(RNEERTH) 9,000 33,000 A24,000
OddEd U ZA & 2EI A 9,000
Jl 6,000
< 3,000
HNASEE JIMA ZHES NJ(21) 2,397,600 1,982,400 415,200
= 1,998,000
= 399,600
301 22N = 2,397,600 1,982,400 415,200
= 1,998,000
= 399,600
01 A2 AHSHS(RNEXRTHE) 2,397,600 1,982,400 415,200
OMASE JIMA & ZHER XA 2,397,600
= 1,998,000
== 399,600
SRS ZHA R=(E2H/2AH28) 942,810 811,720 131,090
= 613,500
= 329,310
oot A ot te| 937,310 806,220 131,090
= 613,500
= 323,810
ojord A X&2tel 6,300 9,000 A2,700
202 04l 6,300 9,000 A2,700
01 =LHAHI 6,300 9,000 A2,700
O K2t 6,300
RSAAS 2l 1,400 2,000 2600
206 MH=H| 1,400 2,000 2600
01 M=4l 1,400 2,000 A600
02 =, = S M 7 1,400
LRELENXE A2IIZIHE RG] 29 5,280 9,000 N3,720
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2N B2
M =S AZHIA AF(EA/22428)
el QoA ord ke EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
201 er23| 5,280 9,000 A3,720
01 At2teltl 5,280 9,000 A3, 720
OYASENIE 2|2 23 5,280
g2l 882 sd+¢ A2 72,000 144,000 AT72,000
308 AXIHSO0IA 72,000 144,000 AT72,000
01 HAHHBSEEXS 72,000 144,000 AT72,000
OEAZ HB2 S8+ X 72,000
oZJ|& AZE 2y 4X X (=1) 18,850 22,620 A3,770
= 14,500
= 4,350
403 TR SHMSAH=01H 18,850 22,620 A3,770
= 14,500
= 4,350
01 AXISHHA=2 2L 18,850 22,620 A3, 770
o2zJ|2 Axg3e] X X 18,850
= 14,500
[ 4,350
MIABRE=A I2E5(=1) 10,000 10,000 0
= 5,000
= 5,000
301 22N = 10,000 10,000 0
= 5,000
= 5,000
01 A2 HSHS(RNEXRTHE) 10,000 10,000 0
OlIA=ES=N Xz2ES 10,000
= 5,000
s 5,000
SRS XIR AL (BTLAY) 2HE XIR(=1) 609,600 609,600 0
= 406,400
= 203,200
308 AtAIEHMSOIE 609,600 609,600 0
= 406,400
= 203,200
01 AXEH B2 LS 609,600 609,600 0
OstA MR SAHAIE U= XA 609,600
= 406,400
= 203,200
AN Ig2s012 294 NJ(22) 100,000 0 100,000
= 100,000
307 212+01& 100,000 0 100,000
= 100,000
02 2B YAIHE A 100,000 0 100,000
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705 Ol=2dcl=aE

331,500
04 Al - SXISHE DS 0l=2 01 Kot 331,500
O'23F XY= & JIsEZAHY 331,500
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